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Identify The Part Of Speech
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Directions: Each of the following sentences has a word/words underlined.
Read the sentence carefully and find which word class the underlined
word/words belongs/belong to. Indicate your response on the Answer
Sheet accordingly.

DAY 7
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Question 1:

Owing to unforeseen circumstances, the meeting was postponed.
(a) Adverb (b) Conjunction
(c) Preposition (d) Verb

Question 2:

The company's innovative approach has led to significant growth.
(a) Adverb (b) Verb
(c) Adjective (d) Noun
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Question 3:
The CEO herself presented the annual report.
(a) Pronoun (b) Adverb
(c) Adjective (d) Verb
Question 4:
Implementing these reforms will require careful planning.
(a) Verb (b) Gerund
(c) Participle (d) Adjective
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Question 5:
The decision has been widely criticized by experts.
(a) Noun (b) Verb
(c) Adjective (d) Adverb
Question 6:
The centuries-old tradition is still practised in some regions.
(a) Adverb (b) Adjective
(c) Noun (d) Verb
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Question 7:

Consequently, the project was delayed.
(a) Adverb (b) Conjunction
(c) Preposition (d) Interjection

Question 8:

The government should prioritize education and healthcare.
CIRVEIRE (b) Auxiliary Verb (Modal)
(c) Adverb (d) Noun
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Question 9:

The debate concerning the new policy has been intense.
(a) Preposition (b) Verb

(c) Participle/Adjective (d) Adverb

Question 10:

Regardless of the difficulties, they persevered.
(a) Conjunction (b) Preposition
(c) Adverb (d) Interjection
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Question 11:

The measures, although controversial, were implemented.

(a) Adverb (b) Conjunction
(c) Preposition (d) Interjection
Question 12:
Technology is constantly evolving.
(a) Noun (b) Verb
(c) Adjective (d) Adverb
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Question 13:
The importance of ensuring transparency cannot be overstated.
(a) Verb (b) Gerund (c) Participle (d) Adjective

Question 14:
They discussed whether or not to proceed with the investment.

(a) Adverb (b) Preposition (c) Conjunction  (d) Interjection
Question 15:

The situation is truly alarming.

(a) Adjective (b) Adverb (c) Verb (d) Noun
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Question 1:

Answer: (c) Preposition
Explanation: "Owing to" functions as a preposition meaning "because of"
or "due to."

Question 2:
Answer: (c) Adjective
Explanation: "Innovative" describes the noun "approach.”

Question 3:
Answer: (a) Pronoun
Explanation: "Herself" is an emphatic pronoun, emphasizing the subject

"CEO."
THE TUTORS ACADEMY



English Practice Set

Question 4:
Answer: (b) Gerund
Explanation: "Implementing" is a verb form ending in "-ing" used as a noun.

Question 5:

Answer: (d) Adverb

Explanation: "Widely" modifies the verb "criticized," indicating the extent of
the criticism.

Question 6:

Answer: (b) Adjective

Explanation: "Centuries-old" describes the noun "tradition."
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Answer: (a) Adverb
Explanation: "Consequently" is an adverb of result, indicating what
happened as a consequence.

Question 8:

Answer: (b) Auxiliary Verb (Modal)

Explanation: "Should" is a modal auxiliary verb expressing recommendation
or obligation.

Question 9:
Answer: (a) Preposition
Explanation: "Concerning" functions as a preposition meaning "regarding”
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Question 10:
Answer: (b) Preposition

Explanation: "Regardless of" functions as a preposition meaning "in spite
of" or "despite."

Question 11:

Answer: (b) Conjunction

Explanation: "Although" acts as a subordinating conjunction, introducing a
concessive clause.

Question 12:
Answer: (d) Adverb
Explanation: "Constantly”" modifies the verb "evolving," indicating the

continuous nature of the evolution.
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Question 13:
Answer: (b) Gerund
Explanation: "Ensuring" is a verb form ending in "-ing" used as a noun.

Question 14:

Answer: (c) Conjunction

Explanation: "Whether or not" introduces an indirect question expressing
a choice or alternative.

Question 15:
Answer: (b) Adverb
Explanation: "Truly" modifies the adjective "alarming,” emphasizing the

intensity of the alarm.
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